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Bk OORK WM pE 32,151,962 T-H B A & %R 5,704,428 TH

1. = o (FH 1)) 1. & A # 2,502,451 TH
B N % i 113,858.56 ni 2,944,250 FH (1) HARFNZ AR g 3 0 TH
(L & B Hh 16,561.00 i 1,092,680 TH (2) kB ERLFIEMES S 0 FH
15 H % Hh 211,908.00 nf 643,945 TH (3) T th R 1T 0 TH
15 BB H (1L AR« JU B - e Rl ) 143,972.00 i 34,777 TH (4) # E 4,450 TH
b N B B o#t (il Ak ) 120,117.00 ni 93 TH 5) B W& A 5 5 048 & 2,487,786 TH
e i) % Hh 1,306.30 nf 11,757 TH 6) £ #HM XK H & 10,215 TH
K J#k 5% Hh 1,422.00 nf 4,159 FH
& FL % Hh 121,132.50 nf 425,540 TH 2. it H) A & 3,201,977 FH

7t 730,277.36 ni 5,157,201 FH 1= # #&F AN & 46,480 T-HJ

2. K ¥ (2) i = & 2,445,408 TH
(1) ® & 98,657.67 ni 13,443,181 TH (3) & A 4 541,400 FH
(2) 7+ fiF 7,337.80 ni 920,206 T (4) 18 U & 168,689 TH
(3) & B il 18,864.55 i 1,259,454 T-H
(4) & 18 & 3,143.67 nf 141,840 TH AR PE HER M E 50,713,070 T
(5) < 2 it 23,883.12 ni 2,101,562 FH o E E (U— =) 45,008,642 T-H
(6) &8 & R W & 0.00 ni 0 TH

i 151,886.81 ni 17,866,243 TH

3. & 1,198,983 it 6,095,890 T-[1

4. #H A - H - i S 54,442 5 1,864,338 T4

5. 1§ B W7 761 14 1,157,052 T

6. & & M AN M 85 A 6,100 T-H

7. M OB MM M 4 1F 964 T-H

8. Y 7 K~ v = T 33 A 3,294 T

9. &2 AN &R FE & 1 880 TH

= M M E 18,561,108 T4

1. B & - 7 & 8,202,197 FH

2. ¥ TE “ PE 9,946,930 TH

3. & 1 4 0 TH

4. H “ & 1,050 TH

5. K I & 365,407 FH

6. Al A 4 26,974 T-H

7. I % & 18,550 FHJ




